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B 5 OHERS G5

(B2 7 I, %)

e A mo HORS LN RO Z 5l RO
20114-12H 5,623,882 -8.0 5,832,191 8.2 -208,309 -
20124F1H 4,510,450 -9.2 5,991,917 9.6 -1,481,467| 198.0

2 5,438,424 2.7 5,413,014 9.3 25,4101 -96.0
3 6,203,734 5.9 6,290,833 10.6 -87,099 -
4 5,565,965 7.9 6,089,889 8.1 523,924 9.7
5 5,233,185 10.0 6,150,397 9.4 917,212 6.6
6 5,643,000 -2.3 5,583,838 2.2 59,162 -8.2
7 5,313,088 -8.1 5,835,641 2.2 522,553 -
8 5,045,349 -5.8 5,809,163 -5.3 -763,814 -1.8
9 5,358,369 -10.3 5,923,226 4.2 —-564,857 -
10 5,149,155 —6.5 5,703,748 -1.5 —-554,593 96.0
11 4,983,655 -4.11 (P) 5,938,495 0.9] (P) -954,840 38.1
12 (P) (P) 5,300,269 -5.8] (P) 5,941,799 1.9] (P) -641,530| 208.0

(1) (P) I35 fiE,




B 5 OHER G K EH)

(B2 7 I, %)

£ A RN fiEOVR WA o= 7= 5l OV

20114121 1,008,315 3.9 467,298 -1.1 541,017 8.7

201241 H 757,592 0.7 492,560 5.7 265,032| 7.5

2 953,413 11.9 476,645 4.4 476,768  20.6

3 1,025,172 23.9 537,128 8.5 488,044  46.9

4 959,026 42.9 533,709 4.5 425,317 165.6

5 891,025 38.1 557,500 2.9 333,525 223.2

6 989,340 15.1 495,773 -3.4 493,567  42.4

7 934,071 4.7 512,787 7.7 421,284 1.2

8 886,952 10.3 504,411 0.0 382,541  27.7

9 933,423 0.9 506,468 3.8 426,955  —2.4

10 921,119 3.1 504,923 0.1 416,196 7.0

11 933,794 5.3 (P) 479,747 -5.5] (P) 454,047 19.8

12 (P) (P) 999,867 -0.8] (P) 480,237 2.8] (P) 519,630 —4.0

(1) (P) I3 A,

H 5 OHER (FEU)

(AL /T, %)

£ A o fiEOVER WA fOER 7= 5l RO

20114212 614,174 -12.7 500,373 3.4 113,801 -48.2

20124E1 H 532,157 -7.6 530,938 2.9 1,219] -98.0

2 591,568| -10.7 503,614 8.0 87,954 -55.3

3 615,206 -9.7 578,544 10.6 36,662 -76.8

4 582,833 -2.0 521,831 -4.2 61,002  22.0

5 556,577 -0.9 568,120 6.0 -11,543 -

6 519,448| -21.3 523,656 -3.4 -4,208 =

7 503,071| —25.0 597,939 10.7 -94,868 -

8 478,125  -22.9 573,997 2.1 -95,872 =

9 564,597| —21.1 512,368 -5.9 52,229 -69.5

10 508,812|  —20.1 577,571 7.6 -68,759 -

11 501,694| -19.9| (P) 628,225 4.7 (P)  -126,531 -

12 (P) (P) 546,153 -11.1}(P) 523,138 4.5] (P) 23,015 -79.8

(1) (P) 13 fiE,




B 5 OHR (7 7)

(B2 7 I, %)

£ A RN fiEOVR WA o= 7= 5l OV

20114E12H 3,071,599 -11.7 2,586,821 6.8 484,778 —54.0

20124F1 1 2,355,633|  -13.7 2,715,929 9.5 -360,296 -

2 2,907,779 -6.6 2,236,705 5.9 671,074 -33.1

3 3,389,686 0.5 2,759,054 6.0 630,632| -18.3

4 3,022,639 -2.6 2,553,416 1.9 469,223 -21.6

5 2,880,955 4.5 2,717,826 10.8 163,129 -46.5

6 3,100,780 -4.4 2,510,217 -2.5 590,563| -11.6

7 2,955,291 -9.1 2,632,706 3.0 322,585| -53.5

8 2,839,259 -6.8 2,529,806 -5.7 309,453| -14.5

9 2,943,457 -8.3 2,594,772 0.9 348,685| —45.3

10 2,840,141 -5.0 2,687,287 2.1 152,854 -57.2

11 2,728,927 -2.5| (P) 2,727,960 3.6] (P) 967| -99.4

12 (P) (P) 2,898,370 -5.6] (P) 2,625,794 L.5] (P) 272,576| —43.8

(1) (P) I3 A,

M5 OHERE Gt E)

(AL /T, %)

£ A o fiEOVER WA fOER 7= 5l RO

20114212 1,076,130 -16.3 1,263,868 5.8 -187,738 -

20124E1 H 740,975|  —20.2 1,330,561 7.6 -589,586|  91.5

2 1,000,617 -14.0 917,553 -0.4 83,064 -65.8

3 1,136,776 -5.9 1,328,858 4.0 -192,082| 175.7

4 995,064 -7.1 1,270,825 7.6 -275,761| 151.8

5 965,899 3.0 1,269,781 10.0 -303,882|  40.6

6 1,031,476 -7.4 1,159,565 -4.5 -128,089| 27.4

7 1,008,654| -11.9 1,259,990 3.3 -251,336| 236.9

8 966,199 -9.9 1,209,557 -7.2 -243,358 5.5

9 953,565 —14.1 1,285,409 4.0 -331,844| 163.8

10 947,390 -11.6 1,356,177 3.7 -408,787|  73.4

11 858,756| —14.5| (P) 1,406,515 59| (P)  -547,759|  68.7

12 (P) (P) 906,068 -15.8| (P) 1,237,933 -2.1] (P)  -331,865| 76.8

(1) (P) 13 fiE,




